SIERBIEROERRRERE (2015F1A~2015%12A)

2 *NZRE (cIVF) AR (ICSI) RIERIARIETSNE (FET)
% =35 36-39 40-42 =243 % =35 36-39 40-42 =z43% % =35 36-39 40-42 =43
BEBH 291 171 58 57 43 19 156 42 51 44 23 155 52 47 50 10
T E S () 386 38.1 39.0 37.0
SREEIHEK 746 242 70 75 62 35 257 49 72 86 50 247 95 69 70 13
AN EZEVE RS 524 145 41 44 42 18 135 25 49 42 19 244 95 69 67% 13
BRPR AT IR 3K 166 47 26 12 8 1 37 15 12 8 2 g2t 38 26 16 2
Bl 1z D BRFRIFIRE 31.7% 324% 63.4% 27.3% 19.0% 56% 27.4% 60.0% 245% 19.0% 105% 33.6% 40.0% 37.7% 23.9% 15.4%
B3 85 1o D BRARITIRE 57.0% 275% 448% 21.1% 186% 53% 23.7% 357% 235% 182% 87% 529% 73.1% 55.3% 32.0% 20.0%
FRERHITRESK 68 19 8 3 7 1 12 2 6 3 1 37 17 9 9 2
BRPRIFIR 35 7 D FEER 41.0% 40.4% 30.8% 25.0% 87.5% 100.0% 32.4% 13.3% 50.0% 37.5% 50.0% 45.1% 447% 34.6% 56.3% 100.0%
{LZTRER 77 15 2 8 4 1 11 3 4 4 0 51 19 11 16 5
WiR S 1= D L 2R 329% 242% 7.1% 40.0% 333% 50.0% 229% 16.7% 250% 33.3% 0.0% 383% 333% 29.7% 50.0% 71.4%
BiEH I DIHIRE ((bL2REEZSD) 464% 42.8% 683% 455% 286% 11.1% 356% 72.0% 327% 286% 105% 545% 60.0% 53.6% 47.8% 53.8%
FBiEL v oIl 219 97 29 31 20 17 122 24 23 44 31 — — — — —
F IR L 67 24 3 5 7 9 43 1 4 17 21 — — — — —
SRR - RAERELE 87 38 9 15 8 6 49 7 10 23 9 — — — — —
L SRR 65 35 17 11 5 2 30 16 9 4 1 — — — — —
F v U EILE (EERREERL) 309% 25.6% 17.1% 26.7% 242% 429% 358% 16.3% 19.4% 46.5% 60.0% - - - - -

* BETEER 4= 20 (cIVF 14, ICSI 14, FET 244). + THERENR 44220 (MMBBE 14, MDA 34). + HEERIBHEEEDICHFETF v > I 3%
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